8o Notes — Leeture S 20 October 2009
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Tnelastic Equations
KE not conserved (Some lost @ collision)
p still conserved

DEMO: Bullet shot at ballistic pendulum ; perfeoﬂ% nelactic pecause

- bullet sticks inside pendulum. After collision, V4} = Vaf.

fart 1: p conservation when bullet hite, find V¢
Part 2@ eonservation of energy

Sometimes, KE§ > KEL |, agin qun recoil §o P = O
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DEMO: To move, planes need air, chancje&P Tn spaee, there (o no
_ait. To move, the astronaut, she must throw wme%h\mj cxmctg

from the mmh‘ie (direction she wants to qc)
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